Assignment-02
Course Code: TE 419, Course Title: Textile Testing and Quality Control III
Semester: Spring’2021, Section: EVE-B (L3T1)
	Set A

	Questions
	Students’ IDs (from-to)

	1. Examine the fact of the statement in the below image-
[image: ]

2. Calculate the hairiness (%) from the below image by assuming required parameters.
[image: 14 Measurement of yarn hairiness using USTER ® ZWEIGLE HL 400. | Download  Scientific Diagram]

3. Compare the below image in terms of maturity.
[image: Contents of dead, immature, and mature fibers in a maturity distribution. |  Download Scientific Diagram]
4. Compare among different types of inspection which are usually practiced in a garments industry.

5. How the below report is prepared in the factory? Show the flow process.
[image: YARN TEST.jpg]
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	Set B

	Questions
	Students’ IDs (from-to)

	1. Relate the below image with quality including proper reasoning-
[image: C:\Users\user\Desktop\1.PNG]

2. Express the below curve and suggest which one is of greater length.
[image: ]

3. List out the quality parameters which are associated with the below images and suggest the probable solutions.
[image: C:\Users\user\Desktop\3.PNG]
4. Compare among different categories of defects which are considered during inspection.

5. Discuss the below flow process-
[image: C:\Users\user\Desktop\Lec\TTQC III\Flow.png]
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	Set C

	Questions
	Students’ IDs (from-to)

	1. Narrate the below image by considering universal set and sub set.
[image: ]
2. What does the below diagram exhibits? Share your explanation.
[image: ]

3. Show a calculation for any row of the table given below in the image.
[image: cutting (1).JPG]

4. Explain the table by considering sample size code K and AQL 4.0 and 6.5.
[image: C:\Users\user\Desktop\Capture.PNG]
5. In which process the below image is related? Deduce the relation between the process and the changes.
[image: Mercerizing | Object of Mercerizing | Mercerizing Treatment on Cellulosic  Materials - Textile Learner]

	191-23-5535
191-23-5539
191-23-5540
191-23-5541
191-23-5547
191-23-5549
191-23-5553
191-23-5555
191-23-5556
191-23-5558
191-23-5559


	Set D

	Questions
	Students’ IDs (from-to)

	1. How the below image can narrate the formation of standard?
[image: C:\Users\user\Desktop\2.PNG]
2. How a loom does function? Examine from the below image.
[image: ]
3. Interpret the below image and propose how the process is performed in a factory?
[image: ]

4. Compare among different inspection level which are familiar for AQL.

5. Interpret the below table by considering sample code J and AQL 2.5 and 4.0.
[image: C:\Users\user\Desktop\Lec\TTQC III\AQL_Double.jpg]
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